HERE 1501 EXIES LD

. £ SERR2T
T =H % = 150002795
T = 4 ALERALER X SR THFZ D 5
FKE TEH
¢ 200mmPRPE A1 5% T.

(1 TIXL=109. 25m, 2 T.X1=115. 90m) L=225. 15m
FHNT~ AR — LT

(1 LX1550 8T, 2 LXK 1547FT) 9T
DA ERBLOET L
T == &M = (1T X122, 2 LXK 20°FT) 1473
{345 L 1
KiEBR TH 13

Bl {09 - 75K
(1T.X0. 30ha, 2 [X 1. 03ha) A=1. 33ha




A 150 1

EXIES LD

4 B Rk 2 7 ARBE

r = %X = ¥ 15000295 &

T 4, W R LB G5 PN i 1
BT
- %15 T FRPM ¢ 700 =86. 4m
c v R— LT (JHNT2E) 21& Pt
- U T 1 & FT

T % M = | LPERL B
- TUSHE K OVt T 1 & AT
c TV AET =20. Om
Y T 12




HRE1ZD1 EXIES LD

e £ SRR 2TAE

r = *x = 55150002807

T = 4 KSR T 4 B XN

+T —
YN —3

BT B8R/ 7)-1KEE T L=28. 0m
{i % T —=

™ = W




R 150 1

EXIES LD

T2 TAR L

#150002825

IKESSC R TE 22 U D T

™ = W

+T —=
YN —3
K B HERE T 1.=44. Om
KBy - T L.=44. Om
{i % T —=




R 150 1

EXIES LD

e £ SRR 2TAE
T #H % = 5150002815
T 5= 4 K B T 22 F X R

™ = W

+T —=
YN —3
K B HERE T L=31. 3m
KBy - T 1.=31. 3m
{i % T —=




A 150 1

EXIES LD

T2 TAR L

1500027 2%

I FiT ] A EE S B 2 Dfh T

T F M =

BRfhav ) - MEEE G 2P
QP18 31k

- Sl BESE T —2
INBEAE S OMINEE GRS 2
- /K T8 —

N IR R OB IRRG 7K
C FOMTE —x




HERE 1501 EXIES LD

e B SRk 2 7 AERE

T == %X = 150002645

T + 2 [RIGERESUERE T8 D 4

- BRREMEL 13
. At >
Tk g om [T LA




AR 1501

CHAIEAI )

e B LRk 27 AERE
T =2 & 2 % 15000277 =
T = 4 EE R THE LR R
+ T —x
PiERE T —3
AN BERE T (511 L=62. 10m
EARpERE T (Fel) [.=48. 95m
WY HERE T (Feql) L=13. 70m
FGan —3
T =+ iR 2




HRE1ZD1 EXIES LD

GE £ SRR 2 THEBE

T = % 5 150002837

T *x 4 EEG R TE WKW
+T —
BET —1
AR ERE T [=61. Om
% T —2

™ = W




A 150 1

EXIES LD

WK 2 T AR

1500026 9%

FLOt h AR K AR LHE T

T H M =

PR L5 -+« —3K




HERE 1501 EXIES LD

e £ SRk 2 7 AR
T =H % = ¥15000270%
T L2 4 1B EEARE B o BB T2 o 2

T = M = |[EzZT 1100m?




	15000295.pdf
	様式第１号の１


